. S 1 H=Fvvo
FG (T) series

B 7x7AO5VT7H BUI—-IbRELE

O —URHEZSIAHEETDIcH BRI ZEITEDLELFLRE

LiciBiEZalgE & LE Lic
Q@7 MT—Z7)L=RICUTCRE(LZRK > CL\DIcsbEEREER C Il LS
BZERTEERY

OE I Y YaDRAICKDYa—hAOSA X I DlcH. T—IDRA
BRNUEEURIEDAIRECY (1251 X8 &A2.56mm)

OF vy IRIDLDEBNERIFTTCVXIDTERERES - T77 7 0—0x
ISHiEIRE TS

* CEX b m
o EEZ rA—7
B ~TEE

—
F G H  JK
‘H& EEZ rO—7
-1

QeTHUNVUSTZN

>
o
<
[
=]
0
o]
o
Q
=3
[=
2]
~

$A
B

Qe

i

Ja—HEBLEEA
(x7>ar)

FG T2V F G 3V

z
M10a L18 11010 @ 1x a5
0 | B8 £ 1)
1 RS
] _Ee % — 7@
7:& S |
n ‘ x@ FJ
<
05",06" & = —EUfHER~T & 08"10" 12" & 3 —EUftEp~ti%

FGTO5/FG05 | 135|110 14| 9|37|50-70{110 |36-56

12|16]30( 5 |14 [M12[M10| 425[41.3] 50|30°|4-M6 QUK 12| - |3-M6 QUK 12|58| 22 |265]| -
12]15|30| 5 |14|M16|M10| 57.5|524| 64|30 |4-M8RUR 15| - |3-MBRUR 15|58 37 |265|15
121165]30| 5 |18 |M20|M12| 77.5(66.7|104|50° |6-M8 Ui 15|20°|6-M8 UK 15|60| 535| - | -
5
5

FGTOB/FG06 | 165 | 140 16|12 |40|50-70| 110 |36-56
FGT08/FG08 | 210 | 170 |25|16 |56|50-70| 120 |71-91
FGT10/FG10 | 254 | 220 |25 |16 |56 |50-70| 120 |71-91
FGT12/FG12 304 | 220 | 25|16 |56(50-70] 120 |71-91

12]15|30 24|M20|M16| 995 |85.7| 140 |50°|6-MB8 QL% 15]|20°|6-M8 QLA 15|60 755| — | —
12116]30 24 [M20[M16[124.5(85.7| 190 |50° | 6-M8 U 15]20°| 6-M8 U 15{60(1005 | — | -

00|00 | 0o (0o | o

B EERR «FcT: 2UM FG: UM %1 Y3—E&30mmiE %2 Y3—ES40mm

I —h—{

HEBAAN e R MET-XVE mavuvy 2ftes s BAREE L oeaat 17128 mmmyyvy
g CHuw mm kN

;. d H=d
min dia. mm CORETHERY mm

FGTO5/FG05 | 5.0 7.5 4000 10.0712.0]0.025,70.030| Y1020R/RE 8 2.0 *! 52 41 1 Y1020RE39
FGTO6/FG06 | 6.0 9.0 4000 11.013.0|0.045/0.050| Y1020R/RE 8 2l 78 41 1.5  |Y1020RE39
FGTO8/FG08 | 12.0.718.0 3500 22.024.0]0.130/0.140| Y1020R/RE 8 55 *2| 105 61 2 Y1020RE39
FGT10/FG10| 12.0718.0 3500 34.0/36.0|0.2900.310| Y1020R/RE 8 55 | 150 61 2 Y1020RE39
FGTI2/FG12| 12.0718.0 3000 46.0748.0 |0.570/0.590| Y1020R/RE 8 55 *| 200 61 25 |Y1020RE39

i o CEmRES
25 % o BEIR GG

10 10 34 N
I
| s
S e ! \ﬁ
~ Wi
1 @\ @ B‘(k ”\T |
A O e N /A g
f=] o
™) <
05", 06" ¥’z —Fik 08", 10" 12" Y3 —Fik soEenyIT




. Shay Finger Chuck
FG (T) series

J] Face clamping chuck, ideal for thin walled work-pieces

@Distortion is reduced by using face clamping on thin section
parts

@®Using the aluminium rear body allows for high speed rotation,
thus saving machining time

@Jaws include equalising mechanism to securely grip parts
with variable thickness (Equalization amount/2.5 mm max)

@ Through hole allows pneumatic accessories

* CE correspondence

M Dimensional Drawings Clamping stroke

F G H JK

w ‘ T Rotating stroke

>onyg pasuenpy
Qe rUNUS7N

A
B

o Qar

Jaw is not attached
(Option)

FGTxx: 2-jaw FGxx : 3-jaw

z
M10 x 18 11010 © = g 35
13
0 | 88 1)
11 4.1-0.1 LSS R LY
14 8 Bolt width - 1 re—
fT Y
_ O 1
th - ¢ -
: Foote SN
05", 06" jaw mounting part dimensions 08", 10", 12" jaw mounting part dimensions

(Jaw's shaft) (Jaw's shaft)
B Dimensions FGT : 2-jaw, FG : 3-jaw
Dimensions
Model

FGTO05/FG05 | 135 | 110 14| 9[37(50-70|110|36-56| 8 |12]|15|30| 5 |14 [M12|M10| 425 |41.3] 50|30° |4-MBscrewdepth 12| — |3-M6screwdepth 12(58| 22 [265] -
FGTO0B/FG06 | 165 | 1401612 [40(50-70(110 |36-56| 8 |12|15|30| 6 [14|M16|M10| 575 |524| 64|30" [4-M8screwdepth 15 — |3-MBscrewdepth 1558 | 37 |26.5]156
FGTO0B/FG08 | 210 | 1702516 |56 [50-70|120 [71-91| 8 |1215|30| 5 | 18|M20|M12| 77.5|66.7|104|50" |6-M8 screw depth 15{20°|6-MB screwdepth 16(60| 535| - | -
FGT10/FG10|254 | 22025 |16 |56 [50-70]120 |71-91| 8 [12]|15|30| 5 |24 |M20|M16| 995 |85.7| 140 | 50" |6-M8 screwdepth 1520 |6-MB screwdepth 16(60| 765| = | -
FGT12/FG12 1304 | 2202516 |56 |50-70] 120 [71-91| 8 [12]15/30| 5 |24 [M20|M16|124.5 |85.7| 190 | 50" |6-M8 screw depth 1520° |6-MB screw depth 15(60[100.5 | - | -

M Specifications xFGT: 2-jaw, FG: 3-jaw x1-Jaw length : 30mm x2-Jaw length : 40mm

Specs Max. Draw Bar Moment of

Clamping Gripping force

NtW ht Matchi Limit height b
oo Ultoros” Mex Speed Netyient Tnorta”  MSEHGE Cewoe 7l Ve O (TN Eneed e
FGTOS/FG05 | 5.0 7.5 4000 10.0/12.0 |0.025,/0.030| Y1020R/RE| 8 20 #¥| B2 41 1 Y1020RE39
FGTOB/FG0B | 6.0 9.0 4000 11.0/13.0 |0.045/0.050| Y1020R/RE| 8 25 #*1| 78 41 15 |Y1020RE39
FGTO8/FG08 | 12.0.°18.0 3500 |22.0.24.0[0.130/0.140| Y1020R/RE| 8 55 *| 105 61 2 Y1020RE39
FGTIONGI0| 12.0/18.0 3500 |34.036.0(0.290,0.310| YI020R/RE| 8 55 *2| 150 61 2 Y1020RE39
FGTI2/FG12| 12.0°18.0 3000 | 46.048.0|0570,0590| YI020R/RE| 8 55 *2| 200 61 25 |Y1020RE39
Dimentional Drawings for Blank Jaws(Option S
u o g (@ption) Gripping Examples
10 10 34 ~ 0 52
(‘: ; T E 7 T 7/\5?
= W
y &} ® %f A g
(=] o
(3] <
for 05", 06" for 08", 10", 12" Turbine housing






